Run 5546 quartetwise, Asyms0 (Raw): All
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Run 5546 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5546 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5546 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5546 quartetwise, Diffs0: All
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Run 5546 quartetwise, Diffs0: Beam ON, Laser ON
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Run 5546 quartetwise, Diffs0: Beam OFF
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Run 5546 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 5546 quartetwise, NegHelAccO/NSamples: All Run 5546 quartetwise, NegHelAccO/NSamples0: Beam OFF
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Run 5546 quartetwise, PosHelAccO/NSamplesC: All Run 5546 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5546 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON Run 5546 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
guanctwisa baami los® poskHo auanchwisa baoami lasd posHo
[ Entries HBET [ Entries 960
1600 — Mean 2417 30— Mean 0.2591
- Std Devy 02924 = Std Dev .1169
1400 — [
- 25—
1200 — [
1000 — 20—
ool oF- 1
600 [— -
| 10 —
400 — — |
200 — =
™ NS A A A R BN | I I A A AR D_||V|J-lﬂ||||||||||||||||||||||||||||ﬁﬂ|||
ﬂ].E 0 0.5 1 1.5 2 2.5 3 3.5 0.1 0 0.1 0.2 0.3 0.4 0.5 0.6

PosHelAccO/PosHelNSamplasD PosHelAccO/PosHelNSamplesD



Run 5546 quartetwise, Sums0: All
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Run 5546 quartetwise, Sums0: Beam ON, Laser ON
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Run 5546 quartetwise, Sums0: Beam OFF
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Run 5546 quartetwise, Sums(: Beam ON, Laser OFF

uanctwisa baami lasd summi
[ _ Entries 960
— 1 Mean 0.5159
[ -[ i Std Dew 0.2168
B | h 1
M I I NN TR NN NN TN SRS NN NN SRS NN N N N BN O
0 0.2 0.4 0.6 0.8 1 1.2

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0



